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| '[ PHYSICS

1. The veiocity-time graph which represents a
body is moving with zero-acceleration is
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2. A 100 meteriong train moving with constant
speed of 90 knmvh crosses a tunnel of 300 meter
long. The time taken by the train to cross the
tunnel completely is

i} 16 seconds 2) 8 seconds

3) 4 seconds 4) 2 seconds
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3. Assertion (A) : In an household electricai

circuit fuse is a safety device and is
connected in series.

" Reason (R) Electrical fuse is prepared by

the material having very high melting point.
Soit can allow very high voltage/current in
the household electrical circuit.
Considering the above .

1) Both A and R are true and H is the correct
explanationto A

2) Both A and R are true but R is not the correct
explanationto A

-3) Alis true but R is false
4} Ais false but R is trie-

. Out of the following the best safety measure
against lightning strikes is

1) Stand on the terrace of a building

2) Take sheiter under a tree
*3) Runacross an open high ground

4) Take sheller inside a metal box

5. Consider the following statements

a. The efficiency of Carnot's engine is 1 00%.

b. Spark plug present in both petrol and
©  diesel engines.

c. ‘Carburetter is used to mix air and petrol
in proper proportion.

d. Fuel injection pump is present in dlesel
‘engines.

e. Piston converts linear motton into
rotational motion.

The correct statements are
1) b,cande’ 2) a,candd
.3} c,dande” .4) a,bandd

6. Astudenthas been_givén aproject to prepare
an astronomical telescope, she has to select

twb lenses of type

1) Concave lenses of different focal length
2} Concave lenses of same focal length
3} Convex lenses of ditferent focal length

4) Convex lenses of same focal length
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7. Mirages are formed due to the natural
phenomena
a. Earth’s terrestrial heating
t. Reflection of light
¢. Refraction of light
d. Diffraction of light
e. Totalinternal reflection of fight
1) a,cande

2) a,bandd

3) b,candd 4) c,dande

8. A pendulum is moving in a periodic motion
with period T. If its length is increased by

4 times, then its period

1) Increases by 4 tirﬁes

¢ 2) Increases by 2 times
3) Decreases by 4 times

4} Decreases by 2 times

9. ifthe distance between two bodies is reduced
to half of its initial value, then the gravitational

force between them is
1) Be_duces‘ivo half of its initial value
2 Incr;easeé by..-tl firﬁes of its initial value
3) Increases by2 times of its initial value
| 4) Decreases by4 times of its initial vaue
10. The evidence cned by the scientists for the
contlnued expansion of universe is
1) Movement of asteroids in space
2} Occurrence of supernova explosionin spacé
3) Ob_sen.ration of red-shift phenomena in space

4) Appearance of flying saucers
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This diagram represents displacement-

_ distance graph of a wave travelling ‘in a
straight line. The Iamplitude and wavelength
of this wave in respectively are

1} 2meterand 1 meter
2). 1 meterand 2 meter
3) 1 meterand 1 meter

4) 2 meter and 2meter

12. After firing a bullet of mass 8 g, itis moved
with a velocity of 4 ms'. The kinetic energy

gained by this bullet is
1) 64 Joule

2) 6.4 Joule

3} 0.64 Joule

4) 0.064 Joule

13. The stages of evolution of sun like sfars in

proper orderis

1) Protostar-Steady state-Red giant-Plarietary

nebula-White dwarf _
2) Protostar-Red giant-Steady state-White

dwarf-Planetary nebula

3) Protostar-Planetary nebula-Red giant-Steady

state-White dwarf

4) Protostar-Steady state-Red giant-White

dwarf-Planetary nebula
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14,

15.

16.

- a. Green

CHEMISTRY

Elements belonging to different groups of the
periodic table are given below. If the element
X forms a Chloride whose formula is ‘XC1,
then such ‘X’ belongs to the group whose
representative element is ’
1} Al
3) Mg

2) Na
4) Si

The following colours produced by the
universal indicator paper at pH values are
arranged in its ascending order. The correct
option is

b. Darkred

c. Dark purple d. Greenish blue
e. Orange red

Hb e a d ¢
2Jd ¢ a e b
3Jb e ¢ a d
4c d e a b

The chemical }eactions and its corresponding

observable features are matched below. The

correct optionis

a. Change in temperature i Magnesium reacting

b. Evelution of a gas i

c. Formation of a iii,

with dilute sulphuric
acid

Potassium iodide
reacling with lead

nitrate

Sulphurdioxide gas

precipitate reacting with acidifie:d
' potassium dichromate
solution -
_d. Change in Colour iv. Zinc granules reacting
with ditute sulphuric
acid -
1.) a — iii, b-iv, c¢-i, d—ii
2) a- b—i, C - tgl—iii
3) a-i, b —iv, C— it d—ii
4) a-— b-ii, c-ii d—i
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- 17, Observe the following chemical equation and
the related Analogy. The correct aiternative
that suits the analogy is

H,S + Cl, > S+ 2HCI

Substance reduced : oiidising agént HH _‘____ :CL,.
1) HOt | &iHs
3) S 4) CI2,

.18. Identify the trend of elements along a group
of a periodic table shown below.

A. The elechoéositive character of elements
decreases. '

B. Theelectronegative character of elements
mcreases

1} Als false and B is'false
2} Alistrue and B'is false
3) Aistrue and B is true
4) Ais false and B is true

19. Assertion (A): The flowers of Hydrangea plant
turns to pink in the presence of petassium
hydroxide.

Reason (R) : The flowers of Hydrangea plant
are usually pink which turn blue in the
presence of a base.

1) Alsincorrect and R is correct

2} Both Aand R are correctand R is the correct
explanation of A

3) ‘Alis correct and R is incorrect

4) Both AandRareincorrect

20. The sotution in which an immersed
glass exhibits apparent disappearance is a

‘mixture of
1). Hydrogen fluoride and Acetic acid’
2} Hydrofluoric acid and Sulphuric acid
3) Con. HC! and HNO jinthe ratio of 3 1°

4} Acetone and Chloroform in suitable

-proportion
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21. The following substances are atranged in the

increasing order of their pH values. The
correct option is
a. Tomato juice

b. Tooth paste

c. Saliva (after meals)

d. Coffee

e. Blood

'b ¢ e a d

2b- e ¢ d a
"3b a ¢ e d
‘ 4bh d e ¢ a

22. The law that explains the death of deep sea
fishes when suddenly brought to surface is
A. Charle’s law
B. Graham’s law.
1) Onily A
2} OnyB
3) Both A and B
4) NeitherAnorB

23. Steps of an activity for boiling underreduced

pressure are jumbled below. Correctly

arranged option is

a. Cool the flask over running water from a

tap carefuily-
b. Waterinside the flask starts boiling again.
¢. Take-acup of water in a conical flask.
d. Gases in the flask are removed from the
steam produced.
e. Boil the water without closing its mouth
for 3 minutes.

f. Close the flask with a rubber cork.

fJc a e b f d
2c e d f a b
33a ¢ e | bh d
4 e d c b a f
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24. Assertion (A) : In the manufacturing of
. tommon sugar, the syrup obtained does not

have any colours.

Reason (R): Coconut shell charcoal is used
to give colour to the syrup.

1) Bolh Aand R are incorrect

2) Als correct ar.?d Ris incorrect
_ 3} Both A and R are correct

4) Alisincorrect and R is correct .

25. Silicon compound that is used as an abrasive

for cutting and grinding glass is
1) Sodium silicate
2} Aluminium silicate
3) Silicon carbide
4} Sodiumloxide
*26.- The correct option about the following
~ statementis
A. Galliﬁm §heets are used more than
Gallium wires.
B. Gallliq.m exhibits ductility property but not
the malleability.
i) Aand.B are true
2} AandB are false’
3} Aistrue and B is false

4) Alisialse and Bis'true
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BIOLOGY

27. No urination due to shortag_e of water in the

~ body is a typical symptom of this disease

1} Typhoid
3) Dengue

2) Malaria
4) Cholera

28. Match Column - [ and Cotumn ~ {l and identify

the correct answer :

Column — |

A. Thrombocytes L.

B. Neutrophils H.
C. Erythrocytes .
D. Lymphocyteé .
o V.
1) A-Hl, B-V,
2) AU, B-iv,
3 A-v, B-IN,
H AV, B-I

Column =~ il.

Phagocytosis

Releases chemicals
Produces antibodies

Clotting of blood

Supply of oxygen
C-1l, b-1
Cc-1 D-u
C-Iv, D=1
cC-V, D-1

29. Study the diagram befow and seiect the

cﬁrre_ct labetlling.

1) A} Epidermal cells
C) Guardcell -~
2} A) Guardceli .
C) Epidermal celis
-3} A) Stoma
C) Chioroptast
4} A) Chloroptast
C) Epidermal cells

B) Stoma _
D) Chioroplast -~
B) Stoma

D) Chioroplast

B) Epidermalcelis
D) Guard cell

B) Sloma

D) Guardcell

11
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. 30. The blood vessel that begins and ends in

31.

32.

capillaries
1) Renalvein
2) Renalartery

3) Hepatic artery

4) Hepatic ponal vein

Assertion (A) : The sympathetic nervous
system prepares the body te meet any

emergency situation.

Reason (R} : The sympathetié nervous system

is stimulated by the hormone oxytocin during

emergency situation.

Select the correct dpti_c.n from the given

alternatives. |

1) Both'A’and ‘R’ are true and ‘R’ explains e

2) Both ‘A’ and ‘R’ are true but ‘R’ doesn't
explain ‘A’ |

3) ‘Aistrue and ‘R'is flarse

4) 'A’is faise and 'R’ is true

Which of the followirig statements are correct ?
A. Tapeworms are hermaphrodites and
undergo self fertilization. -
B. Earthworms are hermabh'rodites and
undergo self fertilization.
C. Tapeworms are hermaphrodites but
undergo cross fertilization.
D. Earthworms are hermaphrodites but
undergo cross fertilization.
i) ‘A’ and 'B’ only 2) ‘A’and ‘D’ only

3) 'B'and 'C only 4) *C’ and ‘D’ only
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SAT(K-10)

33. The rate of transpiration in plants is high in
the following situation :
1). Cool, humid and windy
2) Hot, humid and dry
‘3) Hot, dry and windy
4) Hot, humid and windy

34, Suppose a person wears a convex lenses for
proper vision, where does the image of the
object formed in his/her eye when he/she not
using it ?

1) Behind the retina

2) On the yellow spot

3) In front of the retina

4) On the blind spot

35. It is considered as a living fossil and

connecting iink between annelids and

arthropods
1) Lung fish 2) Peripatus
3} Platypus 4) Echidna

36. Read the following statements
A. Itforms a thick, tough barrier and protects.
the underlying tlssues in the skin,

. Whenitis presentin sense organs contain

receptor cells.

It also helps in absorption of nutrients.

secretion.

Which one of the following represent the -

rébove mentioned characteristics ?
1) Epithelial tissue

2) Connective tissue

3) Muscular tissue

4) Nervetissue

When it is present in glands helps in .
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SAT(K-10)

37. Cdlou_f blindness is more common in men
than in women dl.:le to J
1) Dominant genes of such traits are found on
Y chromosomlle
2) Dominant geneés of such traits are found on

X chromosomle

3) Recessive genes of such raits which occur

on the X’ chror'posome

4) Recessive genes of such traits which occur

on the "Y".chromosome

38. The crop that would require minimum
quantity of urea of NPK for its growth
- 1) Blackgram |
2) Paddy
3) Sugarcane

4} Groundnut

39. Read the foflowing statements and select the

correct option.

A. Wind poltinating flowers need to produce

more quantlty of pollen grains

B. Seeds from cross pollinated flowers

- produce weaker and less healthy plants

1} ‘A’ is false ‘B’ is true
2)‘ ‘A’ is true ‘B’ is false
3) Both ‘A’ and ‘B’ are true

4) Neither'A’ nor ‘B’ are true

40. Protein catalysts of chemical reactions in

biological system
. 1) Hormones |
2) Vitamins
3) Enzymes

4) Both hormones and enzymes
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HISTORY & BYUSINESS STUDIES

During the Mid 18" C

41. The British Victory in the Battle of Plassey
implied '
1) Mir Kasim became the Nawab of Bengal
2) Robert Clive introduced the dual government

. 3) Foundation of the British.empire in India had
been laid

. 4) All Indian rulers édopted modern British
military strategies in later wars

2. Find out the correct statement/s with
reference to Anglo-Mysore wars

a. Haider Ali crowned himself as the ruter of
Mysore.

b. Tippu rejected the subsidiary alliance of
the British,
c. Rockets (missiles) were extensively used
by Tippu and Haider. '
d. TheMarathas and the Nizam of Hyderabad
. supported Haider and Tippu in the wars.
1) a, ¢, and d only 2) band c only._

3) aanddonly 4) b, c and d only

43. Choose the correct sequence to indicate the

following statements as True (T) or False (F)

During the Middle of 19t C
a. Indian handicraft products lost markets
outside India.
b. Industrial capitalism made India .rich.

c. Feudal system in indian agriculture was
encouraged under trade capitatism.

d. Largecities and towns sprang up in india
1) FT.1.F, 2) TETF.
3) T.T.F.F. 4) T.F.F.T.
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SAT(K-10)
44, Match the following :

o
A. Samvad Kaumudi i. Swami

Vivekananda

B. Satyartha Prakash ii. Mrs. Annie
. Besant
C. Ghulamgiri iii. Rajaram Mohan
D Roy’ |
D. New India iv. Dayanand
Saraswathi
v. Jyothiba Phule
1) A-ii, Beiv, C-v. D-i
2 A-ii, Biii. C-iv, D-v
3 A-iv, B=v, C~i,  D—ii
4 A-v, B=i . C-ii, D-iv

45. Find out the incorrect statement about
consequences of | War of Indian
Independence.

1) Rule of the East'India Company ended

2) India'came under the direct rule of the British
Government

3) The Doctrine of Lapse was retained

4) Queen Victoria isstied a Proclamation

46. In the early 20"C.

Assertion (A): Indian handioom industry
|
made a steady progress. N
Reason(R) : Thes'e_industries_usedflying
_ sh_uttle'in the weavirig process.
1) ‘A’ is true but ‘R’ is false
2) ‘R’ is true but ‘A’ is false
3) Both'A’and ‘R’ aretrue and 'R’ isthe correci
explanation of ‘A’
4} Both 'A’ and 'R’ are true but ‘R’ is not the

cairect explanation of *A’
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47. Arrange the following events in chronological
- order. '
~ a. Arrival of Simon Commission
b. Celebration of Poorna Swaraj
c. Kheda Satyagraha
d. Withdrawal of Partition of Bengal
. 1) adbc 2) d,c.a,b
3) b,c da 4) acdb

48. Which 6f the foliowing statement/ is/are true
regarding the LN.A. and S.C. Bose ?

a. S.C. Bose took over the leadership of the
LN.A. in Tokyo

b. The L.N.A. captured Mowdak {near
Ch|ttagong) during its military operations
against the British

. ¢, .Provisionai Government of Free india
was setup in Singapore in 1943

d. The British Government tried and

.punished the captured officers of the -

LN.A.
1).a,b and d are correct
2} bandd are correct
3) bandc are correct
4) aand b are correct

49. Arrange the shaded regions shown on the

map of tndia in chronological order of their

merger with the Indian Union.

.2_\(;2

1L HL IV
3y WL IV

2) 1L v
4 v, 100 |
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50. Assertion(A): The East and the West
Germanys were reunited in 1990.
Reason (R)
Collapsed in the U.S.S.R. in 1991.

1) Both ‘A’ and ‘R’ are correct and 'R’ is the

correct explanation of ‘A’
2) Both ‘A’ and ‘R’ are correct but 'R’ is not the
correct explanation of ‘A’ |
3) ‘A’is true but ‘R’ is false
4) ‘R'is true but ‘A" is false

*91. Match items in Column - I with appropriate
items in Column — i by selecting the correct
code, given below :

| l
a. The League of Nations i. Mao—Tse.LTung
b. 5 YearPfans ii. Woodrow Wiison

¢. Perestroika iii. Joseph Stalin
d. Cultural Revolution iv. Benito
Mussolini

v. Gorbachev

) a-i di

b —iii C—v,
2) a-—ii, b—iv, ¢ —ii, d-v
3 a-ii, b-iv € — iii, d—i
b-i,  c-ii, d-v

4 a—iv,

52. Which of the following statement/s isfare

correct, regarding functions of banks ?

a. Foreign exchange transactions are
conducted

b. Only private business transactlons are
carried out

c. Theyformulate common monetary policy
for all banks

d. They provide safe depositiockers

: Communist vaérnment_'

1) a,candd
3) aandd

2) bandc
4) b,candd
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53. Regarding Life Insurance

~ Assertion (A): The premium is paid in

- lumpsum, at the time of purchasing the policy, .

by an employee.

Reason (R) : It provides tax-relief benefits
forthe policy holder.

1} ‘A’ is true but ‘R’ is false

2) ‘A'is false but 'R’ is true

3) Both "A” and ‘R’ are correct, but ‘R’ is not -

the correct explanation of ‘A’

4} Both 'A’ and 'R’ are correct and" ‘R is the
correct explanation of ‘A’

54. Examine the following statements and select
the correct option :

A. An entrepreneur’s main objective is to
provide service to the public

B. There is no risk of loss, since his

business is proiect,ed by the Government

‘A’ is {alse, ‘B’ is true

—
N

‘Alis true, _‘B’ is false

Both ‘A’ and 'B’ are true

B2 @

Neither ‘A’ nor ‘B is true

55. In the wake of globélisatibh ;

Assertion (A) : There is a éteady rise in
unemployment, in the develc:ped countries
like the U.S.A. '
Reason (R): out sourcing of employees fr_om

" the developing countries h'élps the MNC’s in
maximising the profi.
f ) ‘A" and 'R’ are true, and ‘R’ is the.correct
~ explanation of ‘A’ '
2} 'A'and ‘R’ are correct but ‘R’ is not the correct

expianation of ‘A’

3) ‘A’ istrue but ‘R’ is false
4} ‘R’ is true bul ‘A’ is false
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GEOGRAPHY AND SOCIOLOGY

56. The Indus River lows between the ranges of -

1) Pir Panjal and Mussorie
2): Ladakh and Zaskar
3} PirPanjal and Zaskar

)
4) Ladakh and Mussorie

57. Match List — | (States) with List - i (Caused
for land degradation). Select the correct

answer using the codes given below :

List—{
(States)

List —1i
(Caused for land

degradation)

A. Jharkhand and i. Over

Chhattisgarh grazing

B. Guijarat and Rajasthan ii. Floods

C. Punjab and Haryana iii. Mining
D. Assam and iv. Over
Arunachal Pradesh ~ irrigation
1 A—iii, B-i C—iv, D —ii
% A-iv, Bi-i C-ii,  D-i
3 A-i. B-ii,  C-iv, D-ii
S d4) A—ii, Bie—iv, C-i,  D—ii

58. One of the follom:ring is the correct order of
major irrigation projects in India from North
to South ' '

1) Rihind, Kosi,Hirakud, DVC
2) Kosi, Rihind, DVC, Hirakud
3) Hirakud, DVC. ﬁihind. Kosi
4) DVC, Kosi, Hirakud, Rihind
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59. Uttar Pradesh stands first in the producnon
of wheat because :

i. treceives less than 50 cm of Rainfall.

ii. Ithas well drained plain area and fertile

altuvial soil.
iii. Ithas 20°C—32°C of temperature.

iv. Ithas excellent canal irrigation system.

Select appropriate statements.
1) i, ti and @i R

2) i, iiiand iv
4) i, iiandiv
60. Identify the descending ordef‘ot Land Use
Pattern in India in the year 2007
A. Forestarea
‘B. Netsown area
. Area under non-agricultural use

c
"D. Barren and waste land
1) B,C,AandD

2) B,A, Cand D
) B,A,DandC
) B,D,AandC

61. identify the correct matching pairs:
A. Siderite - {ronore

B. Pyrolusite — Bauxite

C. Biotite - Manganese
D. Lignite - Coal, . '
1) Aand B 2) BandD
3) Aand D 4) AandC

62. Connecting of Delhi, Mumbai, Chennal and
Kolkata by 6 lane golden quadriliateral

highway started in 1999 by
1) NHDP 2)  NHAI

3) CADP 4) CPWD

TR g

59. w033 TWeIH) Rwcd TWIHO HyF:
IR, IEOG w300
i @9tH 50 Jo.owe. No3d Id Shdoba,
TFcs033.
i, 0T ITRTT Py Dwer W

Fodsew HIw =, BAoRT.
i, owH 20° 3. - 32° 4. =one VoORCYRRY,

Brohd.
iv. 905 @3 IRHTW FToWE ACTETO
e, deodd.
LMo tvrolat a:’e@@rf%fmnl &fc&a1+ =nh,
1) i, i cﬁJB’J jii 2) i, i a‘b@% iv
4) i, iR v
60. 030 @rwyd 2007 dgcgoé ToOIRE weich
_s;mt‘e’Sic:\‘a:'abgz Hsaa.
2. wdres WA
W, DY R 53
#eeao,?oc:s’d wd@c
wrgded

ﬂ wydolrends

da

hickog EheD

TBo3RM BRoDATHS a?.;faeCacr.ba.‘o‘z s :

@. ARG - swrd el
0. Hheewd’ - s

A wolpeddls® - Swonrdes

a. I - 39gw

1) & &8 0 2) B HIy &
3 o |y @ L A) @R A

62. 3=, a‘mo?%, céa’a g DR &mcﬁsg ?dr:dmﬂa’sul
HomsrThad 6 oden® DHdrer za’d;dqcs aécrgboin
1999 de; ScidoT oo,

1) oF.o5.08.8. 2)

&
<
&l
&
2]

3) 2B, 4) 2.

2

.f_u
&L
kD
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632, Match the|nternational Airports on the map
of iIndia (i, ii, iii, iv) with their respective
names:

A. Raja Sansi International Airport
B. Anna Illnternational Airport.
C. Subhashchandra Bose International

Airport
D. Rajeevl. Gandhi Internat_ionai Airport
1) A-i, B-ii, C-iv, D-ii
2) A-iii, B-ii, -C-i, D-i
3} A-iv, B-iii, C-i, D-i
4 A—ii, B-iv,

C-i,  D-ii

64. identify the correct set of major ports along
the East Coast of India

1) Ennore, |Péradeep, Tuticorin, Haldia

2) Ennore, Vishakapatnam, Tuticorin, Kandla
3_) Chennai, £nnore, Marmagao, Kochi

4) Ennore, ’Tutfco_n'n, Kochi, Haldia

65. Three iron and steel’ plants at Kulti, Hirapur
X -and Burnpur were merged together and are
now known as

1) VISCO 2y
3) BISCO

1SCO
4) "DISCO

66. information régarding the Earth Surface is
collected by

1) Global Information System
2) Geographical Positioning System
3) AdvancediTechnology

4} Remote Sensing Techriology

22
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63. 4RO AFODY TbCb32HE @m@m S
acatarwab (a, i, i, iv) Xosgdride, éwzié.rao&ﬁ
MO@NB

2. W W @osdda%cob DR D

2. @E% eoﬁdm%coﬁ QTR oY

A R uor deext eﬁoa’doaaécoia SYERE
ReRro . -

Q. T2l ol LOBTTRELCDH DR DR

N a—i, o0, A-iv, &-i

2 @i, wW-ii, -, B-i

3 - w—iii, A-i, B-i

A=,

4 o —iii, ©—iv &.- i
64. PITIT Fpur FoemY SeoTYHT 3:3503
womtiny nocind o ab i*bdaéfo
1) SR, OO, IDHHE, T oI
2) SBRL0°, DTVNTLI0, BRDHE, 20F
3) Wy DBRET’, WTorrieem, deed
4) oFeee, araéaa,e:a 825, BYCIR

65. ©Y, aoccmgd 2P WEFFrHURITHST Tt
Y00 3 u)a) OER %maémw LipRARITANDY
gm Slar) &atﬁ TBoH SRS, ‘ :

1) D00 Ak, 2) 2o.05 k.

3) 2Ok, 4) B.0.0F 2k

66. 3 a’uadabd'd prelobe s Sl 3abil, Arsd ot
RontoreRmds | |
1) DeE Swted FTF
2) PreceE RB .dédz\’é
3) emzss a’oémj
4) T3 moed Jodmaz

.!
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67. Name the Constituticnal Section which
prohibits the practice of untouchability i.e.,
Untouchability Crime Act {1955)

1) Section~17 2} Section—12
3) Section-18 4) Section-19

68. Read the statements and identify the correct
answer:

i. Specialization developing in every field.
ii. Industries have grown in number.
ili. Expansion of Trade and Commerce.

iv. Invest money and gaining a lot of prafit,

These are leads to:
1) Division of Labour
2) Discrimination in Labour -
3) Formation of Strata in Society
4} Division of Class

69. Read the statements and identify the correct
answer :

i. Sometimes it leads to laige scale loss
of property and lives.

ii. It become serious challenges for law
. and order.

ili. Itdo not continue for a iong time.

iv. Communal and group clashes are some
examples of it.

1) Mobs

2) Riots

3} Collective behaviour and movefnents
‘4) Revolution

70. *‘Self awareness, self motivation and mutual

trust to fulfil the economic and social

necessities by efforts and co-operation’ - This
statement refers to

1) Micro-finance activity
2) Women’s self help grciups
3) Women right opportunity

)

4) Representation in developimeantai projects

23
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§7. ‘@ w3 gw eZowgne m:nca (1955)3 o

‘e:ga 330 médr%oina’n Fndch "?ud Holrend

';ac;aomb pta
1) 175¢ 2B 2) 128 2O
3) 183¢ 2O 4) 193¢ 20

68. Brodridsh, 1.0 sHh HOGRE CoddeR, b3

i S3e ge3nd Dded wOred WdEdralnrbach
ii. %ma@r{@a eXosmEmen deaninalmromh.
il TR hd) wmeedey dednd DmureRRT.

iv. @Wz&océwa#asab 2rEny maﬂri@ﬁo?ém.
[eYnd Zomohae :
1) 32 DgEd
2) THAFODY FeTi—oEs
. 3) matnss Sne 833 A
4) =nF e3ess

69. @evirivah, L0 w3, BoakigOy, AL :

I. 3uipcd Wb Wt BTG G TR I
23 DDOhI oL SREIT.

ii. 00 Rem xR ﬁaa’éa':u;ri noped
AzvepndHZa.

iii. ¥ Ddegrew aﬁcﬁoﬁat}adcﬂa.

iv. ez ol 2y mhoxm) Fesnsh c—:cﬁd
FOT) NWTRTUR. s

1) masHod

2) dweon

3) HdbeT TIFS B BRTEND
2) 508 '

70. "’"‘zé Njedrd shd) =oxg sozbéoiraoaﬁ Foeie

3_4)‘053:5 .-..oa’a aadaod 3053 DFH

w:ﬁazﬁﬁ @ﬁséﬁféab RT3 usxaf.f%@do’ da
Feodosn owo@.qda;:é)d:

1) ?irage Em@z‘o NN

2} shi&kdoiu :«;::‘*“aodo ENVIpT e aten]
3) @wvod ﬁﬁ)ﬁ B ToIND

4) u"‘“a oG RT ﬁ?ﬁ:{ RNl



SAT(K-10)

POLITICAL SCIENCE AND ECONOMICS

71. Match the List~ ‘A’ (Concepts) with List— ‘B’
(DescriptitlanS) and select thé correct matched

codes giwlan below.

List—- ‘B

List+°A’
(Concépts) {ﬁescriptions)
A. Secular ~.i. Equal distribution of
.National Income
B. Sociaiist ii. TheHead of the State

elected by people

C. Sovereignty iii. Cbuntryfree from

internal and external -

forces

D. Republic - iv. Follow any religion
of people’s choice

Codes: ,

1) A=ii,  B-iv, C—i, D-ii

2) A-iv, B—i, C—iii, D-ii

3) A-iil, B—iv, G~ii. D—i

4) A—iv, D —iii

B-i, C-ii,
72. Which of-'t'he_ following are associated with
UNQ ?

a. Franklin D. Roosevelt

b. Veto Power |

c. Common Market System

d. Military :Auiance o

e. New Yo;rk City

{. British Supremacy

Choices:
Y adf 2) bce
3) a, b,e 4) c, d,f

24

T

DTN D) OPrTex
S - 2 ]

71. @Y - ATRY (FO5Rnt) T Tey - ‘B o)
Y (DFVR) RedTy, wRRED, Brodid
TO0IRT odohd, rHThaa.

w&s\% — iAl
(Bodon)

A. =5.3038

D. r{rawz:é

woﬂﬁﬁl:#a :
1} A—ii
2) A- iy,
3) A iii
4 A-~iv,.

ifi.

B-iv
B

B—iv
B-i,

i, C-—ii

x% — ‘B’
(DzoEne)

. ca%co:b’ EtnrTevated
paul

nEnd Boud

C—i, D-ii
C—ii, D—ii
. CZii, D-i
D - iii

72. g 3INIYNYO o DYHOIR Xowonzd 7

a. WO B. ST,

b. Jdre 2QTT

¢. MERF, Teth3e
o

d. codud Lﬁ!%és

e. Ri.razsom#? lyfe]

ViV
R

£ Qe marrPend
)

e.-:cS%rifé:- :

1} a, d, §
3) a,b, e
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73. Choose the correct sequence to indicate the
following statements as True (T) or False (F).

A. Incase of Money Biils, the Rajya Sabha
has virtually no powers.

B. The Ministers are in'dividually
responsible to the President not
collectively to the House of the People.

C. The President of india doesn’t have any -

power to withdraw the ordinance at any
time after once promulgate it.

Choices :
1) TFF .
2) Fﬁ
3 TFY
4) FTF

74. List-"A’is the list of ‘problems’, List—'B'is
the list of ‘Reasons’ and List - ‘C’ is the list
of ‘Remedies’.

List - ‘A’ List - ‘B’ List - ‘G
{Probiems) (Reasons) {Remedlés)
drawbacks in |, verlfication

a. Communatism e,

bureaucracy . of price index
-b. Corruptiop f. White collor |, qubal _'
' jobs .
c. Economic " g. Hoarding k. aniform
inequality civil code .
d. Profiteering Ch Interests of 1. Seclal
religious Securities .
groups

Which one of the following correctly matched
set ?

1) afl, bhj,. cqgi, dek
2} ahj, bfk, cel, dgi
3) ahk, bej, cfl, dgi
4) ahi, bgi, cfk, del

25 -
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73. 3 90N SewIne B0 (T) ugm 37 (F) 20w
ORFhRT decErabay, wob, ERk.
A. Broseas DEABA Fowohutod Uaz%‘-‘»z‘?roba

ciRmTic w3 BRCHY.

B. Judcs FodniFmn oy HIchION
GO NthIebt Erdd: mEbelizmn
Seesxging, _

C. Bigodohds, wd, 2000823 FoII
oIpyde oWy rEwg ooTE cIn
QWO WO CagRINe Beody

wolne : S

1) TFF
2y FIT
3y TFT
4) FTF.

74, g - A chQ IbARE’, T - B’ b ‘i
SCEoNE’ Sh3) T ~ ‘C 0bY ‘RO Yhrivs

zﬂﬁ-‘A’ ﬁ%—‘B’ E:E‘fj—‘C'
(Iednih) (RYOND)  (RemOrTE grorish)
a, dpcom e wHmT- i 2idd Moy
b0 9N Zobeed
dredrineaing
b. Pxmns f. Zr3gmo . | datsmy
Fonss
c. ©ore g. wez K. ZaERs mno
wIERE e Tokd
d. eweyg h. =biconh . mxZwmes
$20038 ‘a’gmi_.a_:’:d_&‘ D~

BTORYNYY HocIRA ecBIHT How)
SSmeyed ? B

1} afl, bhj, cgi, dek
2} ahj, bik, cel, dgi
3) ahk, bej, cfl, dgi
4) ahi, bgi, cfk, del
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75. Readthe followmg
. {tis not aligned to any power blocs

B. It retains the freedom to take

independe:nt foreign policy.

C. ltjudges an issue on merit.

. itis opposed to military alliances.

Which of the followmg represents the above
characteristics ?

1} Disarmament
2) Opposition to the policy colonialism
3) Coldwar
4} Non-alignment
76.  Assertion (A) : Deficit finance is indicated
by the negative sign (~).
Reason (R) : In general the expenditure of

I,
. the government is :ncreasmg more than its

.revenue.
1} ‘A’and ‘R’ are True and ‘R’ is the correct
explanation of ‘A’
2} ‘A’and ‘R’ are True but ‘R’ is not the carrect
explanation of ‘A’
3) ‘A’is True but ‘R’ is False
4} 'R'is True but ‘A’ is False

77. The course of evolution ot money is dépicied
in the following flow diagram. Identify the

correct sequence.

1> 2|

a. Copper Coins
b. Credit Cards

c. Commadities
d. Cheques

1) 1a, 2b, 3c, 4d
2) 1d, 2¢. 3b, 4a
3) 1b, 2d, 3a, ac
4) 1c, 2a, 3d, 4b
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75. 8 FNERRYRDL, LO.

A, wth olmdde 3¢ urattra Zeoohioend.
B. 3 _1’303 adc:mor{ aeéopmd ea‘nﬁaﬁw
*330:3 Redd.
C. as*umri%fa’o mmsssosa Uyedy Dhed
w?aoeéaﬁogd
D. »Owd Eetins UK o PAL¥t atartita
& VNS sz wosy) hedd oozﬁéa‘b
| 3R 7 .
1) 27 »Jeﬁdm

ety i

3) bcde Mand
4) 00T Ded

2 VJ?TSCDWEDJDJ DB Ved

76. T3 (A): dnddch Srowend, e ud,
(=) DY OTEZRHIT,
ma‘baa‘_bmﬁ P R el efmob%oss

d dagri@a WBY BLRNDI.

negrs (R) :

I} ‘A2 R 20de 10 @3 RA S
#003mT DFdRECING |

2) ‘NI R 20@e =0 sTd RA S
,o«)cfmd c".):a‘da—a‘o&aﬁo

3) 'A'XD ©ot R

4) ‘R'5D e300 éa"g;

77. EBeey Owd BrodT q—o‘oa’ﬁva’nd' =3 YN O
UGHY DTN, Hoabes BIrdab, hThdz.

1T 2

a. 33;1: o) n’@a

2b, 3c, 4d
2¢, 3b, 4a
2d, 3a, 4c
2a, 3d, 4b



SAT(K-10)
78. Income sources of Central Government are
given below.
a. Internal and Foreign Loans

b. Coins and Mints

c. Disinvestment

Which of the above source/sources isfare the
Capital Receipts of Central Government ?

- 1) aonly
2} bonly
3) ‘aandconly

4} aandbonly.

Answer the Question No. 79 and 80 based on
following table. '

Country | Totai National Population
. Income
Male | Female
p 10800 635 | 465
Q 10450 575 | 375
R 9000 380 | 220
S 10400 285 | 515

79. The country which has high per capita
income is
NP
3) R

2y Q
4 S

80. identify the correct chronological order of
" nations which has tow ber cabifa income to
high per capita income '
1) PRQS
2) SQRP
3} RSPQ
4) QPSR

0 L

78. 3t0Q ¥RFOE BmART heonvd, B d9R
NCBTNTS.

‘a. 50303 SHH Aed TWOTE
b. morazidh a.‘os:)p LoTRS-
c. BRA%0DH Lo3RZ

B DcORPYRYY BRYo/c3RHsY 3607,
BEorod woRmed BmRobhd Shevmend ?

1) a S»g

2) b 323

3) a SR ¢ TWY

4) a 3 bR -

¥ 29N Beeagpa, U0l T3, %0857 Y
803, 4vZ0A.

oe3 L 23 ca%coi: asamoasﬂ .
 smeod

now | I

€@

P 10800 - 635 | 465

Q 10450 575 | 375

R 9000 380 220

S 10400 285 | 515

79. ©3 éai& Smmobdab& 2RO m%

Y .P
3) R

2) Q
4s

80. ¥@ED JRTROHOOT B ITROL RRONTH
CogY ROIRT WHBRTR, THSHI2.
1) PRQS
2) SQRP

© 3) RSPQ
4) QPSR
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MATHEMATICS

81. The variance of 20 observation is 5. If each
observation is multiplied by 2, then new
variance of the resulting observations is

1) 7 2010 320 4 40

82. The polynomials (x® - 1) and (x2 +1) are
divided by (x + 1) leave the remainder as

R, and R, . The true statement among the

following is
1) R1+H2=0 2) H‘—R‘?:O
3} 2R1+R2=0 4), R —-2R =0

83. In AABC, XY || BC and XY divides the

trlangle into two parts of equal areas. The

AX |
value of —- is
BX

J2
1) Jo-1 2) Y
2
3) NS 4) fo 44
— = .| 1+a?
84. lfa= \/5+2J§ then ——— =
: © a
1) 46 2) 10
3) 5 4 25

85.

C 4 A
In the given figure, if Ab 18C,AC=4,BD=2,
AB=aand CD =hthen a? + b? =

1) 6 2) 8 312 4) 20

86. If sin x + sin2 xi= 1 then the vaiue of

"c0s'?x + 3cos'® x % 3 cos® x + cosbx is
1) 0 2) 1 3) 2 4) 3

28

T

ness

L Qs

mmoéd&‘:ﬁl
JTROIRY "‘"dra QB3os
1) 7 2) 10 3) 20

81. I3 Tmeoind TXTrY aaﬁvd 5. 8 gé

' 4) 40

82. (x*- )33 (k2 + 1)u£a"‘c3.raeaﬁdab {(x+1)
[alela AT ERarY] R, ms: R, Scansd J\a@oix:éw
sqna:gmo Todind Deed

) R +R,=0 2) R - R,=0

3) 2R, +R, =0 49 R -2R,=0"
83. AABCoHQ XY || BCTHh3) XY oo b,

QT Xt WAL [WLEd phans,

e g;— & o3¢
VB g _gg_
AN 4 J2+1
' . 1+a?
84. a= .f5+2,j§ udd. - =
) 446 210
3) 5 4) o6

85.

c 4 . A

At WIEY  AD 1 BC, AC=4,BD=2,
AB = aafnéa CD=b 08 a?+ b2 =

1) 6 2) 8 3 12 4) 20

86. sinx +sin?x =153
cos”x + 3¢0s" x + 3 cos® x + coséx &
Y 2) 1 3) 2 4) 3

a3
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87.

88.

89.

90.

91.

92.

.93.

. 94,

The area of the triangle formed by the points
(8, b+c), (b c+a) and {c,a +b})is
10 2) 1
abe 4) a+b-+o
2 2

3)

Two lines are to be parallel. The equation of

one of the tines is 8x + 6y = 28. The equation
of the second line can be

1) 3x+4y=14"
3} 2y +x =28

2) Bx+ 8By =28
4) 3y + 4x =14

If A and G are AM and GM of two given

positive numbers ‘a’ and ‘b’, then
/-{;_“\/—b— 2

2 )T |

1 A+G . 2)A-G

H AxG 4 A+ G

i the m™ term of harmonic progression is
“n” and n'" term is “m” then (mn)""term is
1

mn
a1

1)y mn 2)
31

The maximum number of non-empty subsets

ofset {0,1,2,3}is

i} 7 2) 8 3} 15 4) 16

The number ofarrangements of all the letters
of the word “GOUR!”, so that all vowels do
not occur together will be

1) 36 2) 84 3) 108 4) 120 |

If 2°C,
1) 5

: °C,=12:1 then the value of ‘'n’is
2] 6 3) 10 4 1

There are two temples one on each bank of a
rivers just opposite to each other. One temple
is 40 m high. As observed from the top of
this temple, the angle of depression of the
top and foot of the other temple are 30° and
60° respectively. The width of river is

403 . L 4o
4 < g

3) 129, 4) B9
3 Js

29

87.

B8

89.

90.

O RO O O

(@, b +c), (b, c +a) > (c, a + b) VewnRPn
SOOI HHEE DyereT

10 21
3) .abc 4) a+ I)-e_-g
2 2
a‘dab Teino3d Hoddesdnd &m%cs a@mf&

eth Jesdod mweITe 8x + 6y =28 dd
BB Seadody Bonessed
1) 3x+ 4y =14 2) 6x + 8y =28

3) 2y +x=28 4) 3y +4x =14

A3y G rivh Qvth O8I *’oaﬂ_gf@acﬁ' a =3y
b nd ”a‘uao d @y hEee3d aﬂsat,ﬁgivadti

(«f Jo Y

ﬁ.;ﬁ J—2‘

1) A+G 2 A-G
3) AxG 4 A =G

aoaciﬁ ZeReh mee IS nHFH nEe o m
=g (mn)&c D3

‘t _
} mn 2} -
31 4 -1
91. {0,1,2, 3} rirex? ZRY[VE eomreanty 7o Xoss,

92.

93.

107 2) 8 3) 15 4} 16

“GOURI" TRTOT D 87, d'{r#:b WY LBROUD,
wCJ; gdﬂea.) wvi"{ CﬁOa 5.\» &Dfﬁaﬁu ?.,.n..-..:
JIPNE

143 2 84

3) 108 4y 120

?C,:"Cy=12:1 @038 'n's 34

s 26 3) 10 4 U

. Lot Rocw 53\3 Tiotdck woed wd,,.d i 0N

QKD dcdma%ﬁfa:} 2.0TH d":S*ewd aed 40m.
g des:iﬁ,%a%d Hedlon faa’fa od. dﬂaﬁwasd Hd
g TR, gl Juomcs dﬁﬁé&mﬁi@

3pbaseh 307D 60° BN TITRTD SOk LU

4043 ' 40
1 }J—m 2} m
4 g
120 80

3 f 4
N ) J3
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95.

Out of 30 consecu'tive positive numbers 2 are
choose at random The probabmty that their

_sum |s odd is

B e

10 . 14 15
2) —
29

Statement A : The.rationalising factor of
Ya+ibis Ya- b -
StatementB: The product of (i’f;—?/b_)

and (i‘/;fﬂ/b_zﬁﬁ) is (a — b).

- 1) Both A and B statements are true
Z2) BothAandB étatements are false
3) Aistrue and B is false

4} Aisfalse and Bis true

8.

99.

100.

TP and TQ are tangents drawn to a c¢ircle with

centre ‘0’ / OPQ=2a,measure of ~ PTO is
1

1) -a

2
ot e

3) 2a  4) 4a

If one root of the equation x2 + ax + b= 0
is y times the other. Then the coirect
relations ameng the followmg is

1) 3a®=16b - 2) 16a%=3b

3) 3a=16b - 4) 16a=3b°

The mean and mode df_"a set of data are
respectively 2 n and 5 n. The median of same

datais

9n 2)7n  3)5n  4) 3n

The diameter of a metal ball is 3.5 cm. If the

density cf the metal is 9.8 g/cm? then mass

of the ball is
1) 200g

3) 16009

2) 220¢
4) 1760 ¢
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